pythonZ=3J %10 : Numpy

e python&3: Numpy
o FEHA

3.2.2 np.linspace

In [48]: 1 np. linspace (0, 10, 21) HEELHH TFY, EF, TLEAIHE. BLHE
out[48]: array([ 0. , 0.5, 1., 1.5 2., 25 3., 3.5 4., 45 5. ,
5.5 6., 6.5 7., 7.5 8 8.5 9., 9.5 10. 1)
In [90]: 1 np. linspace (0, 10, 6) #ER= (10-0) / (5-1)
0ut[90]: array([ 0. , 2.5, 5., 7.5 10. 1)
o EHLVEE

3.2.3 np.logspace

In [73]: 1 np. logspace(0, 100, ) 2L HE R, B LU 10A RS

0utl73]: arrav([1.e+000, 1.e+025, 1.et+050, 1.e+075, 1.e+100])

In [55]: 1 a=1.8
2 int(a)
Outl[55]: 1
In [72]: 1 np. logspace(0, 6, 7, base=2) BIEE L2 A IESL,

0ut[72]: array([ 1., 2., 4., 8., 16., 32., 64.1)

o ERFIREH
3.2.4 np.zeros,np.ones

In [80] 1 np. zeros(5) B — A
2 np. zeros(5). dtype
3 np. ones (5) #e— I — A

i

Out[80!: array([0., 0., 0., 0., 0.])
0ut[80]: dtype( float64’)

Out[80]: array([1., 1., 1., 1., 1L.1)

Out[80]: array([[1., 1., 1., 1., 1.1,
[1., 1., 1., 1., 1.1D)
3.2.5 np.zeros_like

In [82]: 1 a=np.array([[1,2,3,4],[6,7,8,9]])

2 a

3 np. zeros_like(a) #4E Flafshape —FE T2 FRT£0H

| np.ones_like(a) #4E flafIshape—FFHT £ 1 HI 504
Out[82]: array([[1, 2, 3, 4],

6, 7, 8, 911)

Out[82]: array([[0, 0, 0, 0],
o, 0, 0, 011

Out[82]: array([[1, 1, 1, 1],
[1, 1, 1, 11D



3.2.6 np.full

In [92]: 1 np. full((4,),3)
2 np. full ((4,5),3)

Out[92]: array ([3, 3, 3, 3])

Outl92]: array([[3, 3, 3, 3, 3],
(3, 3, 3, 3, 3],
(3, 3, 3, 3, 3],
(3, 3, 3, 3 31D

3.2.7 np.identity ; np.eye

In [114]: | np.identity(4)  AHENTEH 7853
Out[114]: array([[1., 0., 0., 0.],
(0., 1., 0., 0.1,
(0., 0., 1., 0.1,
[0., 0., 0., 1.1])
In [115]: 1 np.eye(d) #ELrEHH
Out[115]: array([[1., 0., 0., 0.1,
[0., 1., 0., 0.1,
[o., 0., 1., 0.1,
(0., 0., 0., 1.11)
3.2.8 np.diag
In [93]: 1 np.diag([1,2,3,4,5]) #W&E#H
Out[93]: array([[1, 0, 0, 0, 0],
(o, 2, 0, 0, 0J,
(o, o, 3, 0, 0],
[0, 0, 0, 4, 0],
[0, 0, 0, 0, 5]
In [103]: 1 np.diag(range(6))
Out[103]: array([[0, 0, 0, 0, 0, 0],
[Oa 11 Oa Os 0: 0]7
(o, o, 2, 0, 0, 0],
(o, o, o, 3, 0, 0],
[0, o, 0, 0, 4, 0],
[0, 0, 0, 0, 0, 5]])

o BENEEIFT4: random, normalt&Ebk



3.2.10 FEHNZEAYFE4E: randomiEiR

In [193]: 1 np. random. randint (2, 10, 5) LEEPIEE, A é/f,ﬂq
2 np. random. rand (5) BOF1.2 [FJ GBI F RS

0ut[193]: array([4, 9, 8, 7, 9])

Out[193]: array([0.32917232, 0.39660367, 0.3306584 , 0.47870501, 0.25053192])

In [20:

3]: 1 np. random. seed (1) B EF T, A RREPLEL, (RIF R I RGP —FF
2 np. random. rand (5) B RN B ECH T RELRIIE 1E 1T &/ F 7

0ut[203]: array([4.17022005e-01, 7.20324493e-01, 1.14374817e-04, 3.02332573e-01,

In [216]:

Out [216] :

Out[216]:

Out[216]:

1. 46755891e-01])

1 np. random. normal (size=5) #—ZE4(. Friff ibds 7 ire MIGHER0, FrifEZE 1A ERitE 12 717 RE B4 1505

3 np. random. normal (size=(3, 2)) EHEA, BREIES A LRI, BT RIS BT b IE A A
4
5 np.random normal (5,2, size=(3,4)) 2L K5, FiifiA2. shapey(3,4). FAHH

array ([2. 04202875, 0.44752069, 0.68338423, 0.02288597, 0.857234271)
array ([[ 0.18393038, -0.41611158],

[ 1.25005005, 1.24829979],
[-0. 75767414, 0.58829416]7)

array ([[5. 69371867, 7.73406541, 6.34743215, 2.41687459],
[3.30351217, 4.66680086, 6.83439204, 5.16050118],
[5.45647755, 3.23904641, 5.55625769, 4.85968645]7)

feR=3

o HUESREIRTELIR

In [269]:

4.1 HUREIEBIRVELIR

1 np. float64 (43)

2 np.int32(78.2)

4 a=np. random. rand (1) %3
5 |a

6 np.int(a)

Out[269]: 43.0

Out[269]: 78

Out[269]: array ([1. 92469863])

0ut[269]: 1

In

[280] : 1 a=np. random. randint (0, 10, 5)
2 a
3 a.dtype
4 -
5 b=a.astype (np. floatbd) ZFEELL AIEATE

b
b. dtype

1

Out[280]: array([4, 0, 0, 3, 4])

Out[2807]: dtype(’ int32")

Out[280]: array([4., 0., 0., 3., 4.1)

0ut[2807: dtype(’ float6d’)

o FRK(E: FHHRRFEREEE

4.2 BRE(EASTRRGFRE

In [320]: v 1 ##RKME/ZHE
2 a=np.nan
3 |a
4 type(a) 7
5 np. isnan(a) 25 (G HIFIT
6 2%np. nan 25 EEHITHIEIE S, R A5 (H

0ut[320]: nan

0ut[320]: float

0ut[320]: True

0ut[320]: nan

o ¥EARZSI



<
=

—HEEIARERS]

In [325]: 1 a=np. random. randint (0, 10, 5) #—Z 441 %5/
2 a
3 alo]
4 al-1]
5 all:5:2]
6 al4:1:-1]

Out[325]: array([2, 2, 8, 5, 0])
Out[325]: 2

out[325]: 0

Out[325]: array([2, 5])

Out[325]: array([0, 5, 8])

v 5.2 ZHHANERESI

In [341]: 1 a=np.array([[1, 2, 3, 4, 5],[6, 7, 89,10], [17, 18, 19, 20, 21]])
2 a
4 al1] #F G| HOIT
5 al: (1,2,3)] F1#1. F2. F35
6 al:, 1:4] 137

al0, (3,4)]

-~

Out[341]: array([[ 1, 2, 3, 4, 5],
[6 7, 8 9 10],
[17, 18, 19, 20, 21]1)

Out[341]: array([ 6, 7, 8, 9, 10])

Out[341]: array([[ 2, 3, 4],
[7, 8 9],
[18, 19, 20]1)

Out[341]: array([[ 2, 3, 4],
[7, 8 9],
[18, 19, 2011)

Out[341]: array([4, 5])

In [377]: 1 a
2 a[1:3,3:5]
3 al0:2,(0,2,3)] BT 15 E 1T/ I
4 al(0,1,2), (1,2,3)] EIEFCE GBIV BINT 2 B ] 7 1~ B2 e T #7

0ut[377]: array([[ 1, 2, 3, 4, 5],
[6 7, 8 9 10,
[17, 18, 19, 20, 2111)

0ut[377]: array([[ 9, 10],
[20, 211D)

0ut[377]: array([[1, 3, 4],
6, 8, 911)

0ut[377]: array([ 2, 8, 20])

o TRENARIFZE . reshapeffdERk; resizeRHIIET

v 6.1 reshape
In [383]: 1 a=np. arange (12)
2 |a
t a. reshape (3, 4) BILFNHE o P FAHAIH AT RN
5 |a

0ut[383]: array([ O, 1, 2, 3, 4 5 6 7, 8 9, 10, 11])

0ut[383]: array([[ 0, 1, 2, 3],
[4, 5 6 7],
[8 9 10 111

Out[383]: array([ 0, 1, 2, 3, 4 5 6 7, 8 9, 10, 11])

In [386]: 1 a - )
2 a.reshape (3, -1) 21N i 5, AR RE VB
3 a.reshape (-1, 6)

Out[386]: array([ 0, 1, 2, 3, 4, 5 6 7, 8 9, 10, 11])

0ut[386]: array([

0ut[386]: array([[ 0, 1, 2, 3, 4, 5],
[e 7, 8 95 10, 111])




6.2 resize

In [395]: 1 a=np. arange (12)
2 a
3 a.resize(3,4) BIEIIECE. R T T REATR (M
4 a

0ut[395]: array([ O, 1, 2, 3, 4 5 6 7, 8 9, 10, 11])

Out[395]: array([[ 0, 1, 2, 3],
[4, 5 6 7],
[8 9, 10, 11]])

6.3 flatten

In [413]: b=np. arange (12)

b. resize (3, 4)

b

b. flatten () HRF, [FH AR
b. reshape (1, -1)
(
(

D Ol W N

b. reshape (3, -1)
b. flatten(order="F') #REF. [FHE, &5

1

Out[413]: array([[ 0, 1, 2, 3],
[4 5 6 7],
[s 9 10, 111D

Out[413]: array([ O, 1, 2, 3, 4 5 6 7, 8 9, 10, 11])

Out[413]: array([[ O, 1, 2, 3 4 5 6 7 8 95 10, 111D

Out[413]: array([[ 0, 1, 2, 3],
[4, 5 6 71,
[s 9 10, 111D

Out[413]): array([ O, 4, 8 1, 5 9, 2, 6 10, 3, 7, 11])

In [396]: 1 a

Out[396]: array([[ 0, 1, 2, 3],

[o
[ 4, 5 6 171,
[8 9, 10, 111D

In [398]: 1 a.ravel() ZET. pEH

Out[398]: array([ 0, 1, 2, 3, 4, 5 6 7, 8 9 10, 11])

swapaxes: OffFI15HAZHA
6.5 swapaxes

In [414]: 1 a=np. arange (12). reshape (3, 4)
2 |a

Outl414]: array([[ 0O, 1, 2, 3],
[ 4, 5, 6’ 7]’
[ 8

, 9, 10, 111D

In [415]: 1 a.swapaxes(0,1)  ZOHFI1H < H

Out[415]: array([ 4, 8],
, 5, 9],
6, 101,
7, 1111)



In [416]: 1 a
2 aTl 2HE

Out[416]: array([[ 0, 1, 2, 3],
I: 4& 53 6: 7] )
[ 8

, 9, 10, 111D

Out[416]: array([[ 0, 4, 8],
[1, 5, 9],
L2, 6, 10],
[3, 7, 111D
o =HEHFIA
In [425]: 1  a=np. arange (24) . reshape (2, 3, 4)
2 a
Out[425]: array([[[ 0, 1, 2, 3],
[ 4, 5, 6 7]
[ 8 9, 10, 11]]

[[12, 13, 14, 157,
(16, 17, 18, 191,
(20, 21, 22, 2311

In [405]: 1 a.swapaxes(l,2) #F—=ZHHHTHH

Out[405]: array([[[ 0, 4, 8],
[1, 5 9],
(2, 6 10],
[ 3, 7, 1111,
[[12, 16, 20],
(13, 17, 211,
(14, 18, 221,
(15, 19, 23111)

o TER)/IEHESstack



6.6 stack

In [428]: 1 a=np. arange (6) . reshape (2, 3)
2 a
3 b=a*3
4 |b
Out[428]): array([[0, 1, 2],
[3, 4, 511)
Out[428]: array([[ 0, 3, 6],
[ 9 12, 15]1])
In [429]: 1 np.hstack([a, b]) #ZfFmlEsS, K75 mFFZE

Out[429]: array([[ O, 1, 2, 0, 3, 6],
[3 4, 5 9, 12, 15]])

In [430]: 1 np.vstack([a, b]) #H/E1H#ES
Out[430]: array([[ 0, 1, 2],
[3, 4, 5],
Lo, 3, 86l
(9 12, 15]])
o ftaEM/MASEsplit
6.8 split
In [434]:|v 1 ##%
2 a=np. arange (16) . reshape (4, 4)

Out[434]: array([[ 0, 1, 2, 3],
[4, 5, 6 7],
[8 9, 10, 11],
[12, 13, 14, 15]])

In [435]: 1 np.hsplit(a, 2) #2554, B /EE 457

Out[435]: [array([[ 0, 1],
[ 4 5],
[s 9],
[12, 131D]),
array([[ 2, 3],
[6 71,
[1o, 11,
[14, 15]D)]

In [436]: 1 np.vsplit(a, 2) 24 /E5F)

Out[436]: [array([[0, 1, 2, 3],
[4, 5, 6, 711,
array([[ 8, 9, 10, 11],
[12, 13, 14, 15]1)]

o HARYRTEFSIEE



In [446]:
In [445]:
In [172]:
Out[172]:
In [447]:
In [175]:
Out[175]:
In [176]:
Out[176]:
In [177]:
Out[177]:

8 numpyZERYRTFFNIEEEY
8.1 — M AER

1 al = np. arange(9). reshape (3, 3) 20)&E—1 4
2 np.save( al.npy ,al) BIRIFHI BN FH

1 np. save (v’ D: \CDAK(HE /3 B35 I\ U4 \al. npy’ , al)

I np.load( al.npy’) HIER A

array([[0, 1, 2],
[3, 4, 5],
6, 7, 811)

8.2 ZANMHARR

1 al = np.arange(12). reshape (3, 4)
2 a2 = np. arange (10)

HRTFEIREN I T

np. savez ( arr12.npz’, al=al, a2=a2) BIRIFHIE BB E)— XA

1 al2=np. load( arrl2.npz’) #EHK
2 al2

<numpy. lib. npyio.NpzFile at 0x207a02975b0>

1 al2[’al’]
array([[ 0, 1, 2, 3],
[4 5 6 7],
[8 9 10, 111D
1 al2[’a2’']

array([0, 1, 2, 3, 4, 5, 6, 7, 8 9])

{ERnumpyH Tt DT

In [458]:

Out[458] :

Out[458] :

In [467]:

Out[467]:

Out[467]:

In [471]:

Out[471]:

Out[471]:

9.1 HERF

1 np. random. seed (43) 2 EREHLF T [ ERT
2 a = np. random. randint (1, 10, size=5) #ELRENI 1 10

3 a

4

5 a.sort() B, REEEE

6 a

array([5, 1, 2, 6, 1])

array([1, 1, 2, 5, 6])

1 al = np. random. randint (1, 10, size = 12). reshape (3, 4)

2 al

i alsort(axis=) # BHAHF

5 al

array([[4, 2, 5, 3],
[3, 2, 5, 6],
[6, 1, 4, 511

array ([[3, 1, 4, 3],
[4, 2, 5, 5],
[6, 2, 5, 611)

1 al = np. random. randint (1, 10, size = 12). reshape (3, 4)

2 |al
3 al.sort(axis=1) # THHAHTF
4 al
array ([[8, 2, 3, 8],
[4, 2, 2, 4],
[7, 6 9, 111
arrav([[2, 3, 8, 8],
[2, 2, 4, 4],
1, 6 7, 911



In [474]: 1 a = np. random. randint (1, 10, size=5)
2 a
4 a.argsort() BIMADEYAFES, B[ BN DT 5 5]
5 a.argmax() BIR B[R A AT HTE 5

Out[474]: array([2, 7, 4, 1, 2]

Out[474]: array([3, 0, 4, 2, 1], dtype=int64)

Out[474]: 1
v 9.2 XESHES
In [475]: 1 a = np. random. randint (1, 10, size = 10) 24 LAEHIZT1 10, shape 710
2 a
4 np. unique (a) #Z AL

Out[475]: array([8, 9, 4, 3, 1, 4, 3, 1, 3, 7])
Out[475]: array([1, 3, 4, 7, 8, 9])

In [482]: a=np. arange (3)

a

np. tile(a, 3) AW EHAHTEE
a.repeat(3)  EWH ML EHTTEL

Q1 = W DN =

Out[482]: array([0, 1, 2])
Out[482]): array([0, 1, 2, 0, 1, 2, 0, 1, 21)

Out[482]: array([0, 0, 0, 1, 1, 1, 2, 2, 2])

In [483]: 1 a=np.array([[0, 1], [1,0]])
2 a
3
4 qp. tile(a, (4,4)) B
Out[483]: array([[0, 1],
[1, 011
Out[483]: array([[0, 1, 0, 1, O, 1, 0, 11,
[1, 0, 1, 0, 1, 0, 1, 0],
o, 1, 0, 1, 0, 1, 0, 11,
[1, 0, 1, 0, 1, 0, 1, 0],
o, 1, 0, 1, 0, 1, 0, 17,
[1, 0, 1, 0, 1, 0, 1, 0],
o, 1, 0, 1, 0, 1, 0, 17,
[1, 0, 1, 0, 1, 0, 1, 01])

v 9.3 H7

In [484): ~ 1 #op pad A, GRFE. HE #HEH. HiEEEEBIHR
2 a=np. ones ((2,2))
3 a

Out[484]: array([[1., 1.],

(1., 1.1D

In [110]: 1 np. pad(a, pad width=2, mode="constant’, constant values=0)

Out[110]: array([[0.,
[o.,
[o.,
[o.,
.,
[o.,

o ERRISTTHERE

’ ) ’ ) ’
’ ) , ) ’
’ ) , ) ’

corroo
cooooo
cooooo

[ S Y W N N

0., 0.
0., 0.
0., 1.
0., 1.
0., 0.
0., 0.



In [491]: 1 a=np. arange (6). reshape (2, 3)
2 |a

Out[491]: array([[0, 1, 2],

[3, 4, 511
In [492]: 1 np. sum(a) HREIE, B afFly— 125
2 HEIHH]. ZHATREH AT M BATE AT, SEN UL 7
3
4 a. sum() 2ok, TH. HEFE a. sum () VAT 777%
5 a.sum(axis=0) 20H 1
6 a.sum(axis=1) ZLHAI

Oout[492]: 15
Out[492]: 15
Out[492]: array([3, 5, 7])

Out[492]: array([ 3, 12])

In [504]: 1 a.mean() R LY
2 15/6
3 a.mean(axis=0) AKX TFLL HiH
4 a mean(axis=1) #£KFL
.var() BhrE
.std() HERitEZE

.max () B A
.min() 2 e

AL N SR o)

Out[504]: 2.5

Out[504]: 2.5

Out[504]: array([1.5, 2.5, 3.5])
Out[504]: array([1., 4.1)
Out[504]: 2.9166666666666665

Out[504]: 1.707825127659933

Out[504]: 5

Out[504]: o

In [510]: 1 a=np. random. randint (1, 10, 5)
2 a
3
4 a.argmin() BRB DL FEHIE S
5 a.argmax() ERBAILFRTE G/
6 a.cumsum() & Tl
7 a.cumprod () Ly

Out[510]: array([2, 9, 2, 7, 1])

Out[510]: 4

Out[510]: 1

Out[510]: array([ 2, 11, 13, 20, 21], dtype=int32)

Out[510]: array([ 2, 18, 36, 252, 252], dtype=int32)

L EASEIET By
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